< V10x2 <12 o] AH u), A4

@D +1 2 +2 ® +3



2. 5v2+3V5x6V10 & 7tdo] shofet,

R
=



3. (2x+3y)2=a’+bxy+oy* W, AT a,b,cFat+b+c



4.  (2x-3y)(x+ay) T AMNHAE 0, xy & A9 W, a9 TS
ool et

s
=¥



e 182 7o) 5

2ol ghE AbtelBolet, AtetelE

FohH?

)
@

@




6.

&% Rel5 V2ot VB Aol

1.414, V3 =1.732)

O V2+0.1
@ \/5;\/5

@ V3-0.1

5 V-2

247} obd 217 (

® V2+02

o

V2



X2 -14x+ A

7.

D1



8.

2 +5x+a=(x+b)? oA a-b 9 GF2?



9. x2+1x—}—
G 6—(x+a)(x—|—b) olil,a>0 4 W, a o] 327

) ® ® @ 2 ® 3

=
Wl
Do =



10.

T o|ZFA] X2 —3x—4 9F 242 — 11x + 12 9]

@ x-1 @ x-4

@ 2x-3 G 2x+3



11. F oA X2 -bx+a, 2x® —bx—12 9] F&<1 QA7 x -3 0|2t &
o, a + b ] 27

@D 2 ® 4 3 7 @ 8 B 9



12.

x7ta S AEFTE o, o

@ x2=a @ x=ad?
@ x=a? ® -x2=a



13. A, B7V o2 22 W, A + B 9 312?

A= 196 + \/‘7—\/—7(

V()




14.

0<x<2< o,

VEP - VP 4 R e R

@ x

@ 3x+4

@ 4-x
® 4-3x



15. o2 188 B 24 2 S
LERA(, B g 7h2 & e
o7} 1 9 Az ol

B(b)y YA@Q)

-3 -2 -1 0

@ a 9 b Atolell= 47t F45] gt
@ a 9 b Ato]olli= 47t §45] gk
® A HEEA(-1+V2) ©

@ BO] ##E B(-1- V5) ot

I
OPEPEETEEESR LS




mjn

ol

® 1-+2

@ -0.5

@ V2

® 14+ 2

@ 2+ 2



sholat,

=7

o, 2a+b

b 2tal



moh

F o, o o] Al
o



19. x-DE+D)EP+ D+ 1D)E3+1) =x+bL d, 4 a, bl
ti5te] a - b 9] 7H-2?

@ 7 @ 9 3 15 @ 17 B 25



A . x o] A47H

Fatelet,

a® %

St (x—a)(3x +5)

2 olgs
ofu] 44

1

A
&l

ey
T 0
Ho =



21, (a+b+e)& Aok

@ a®+b*+¢?

@ a2 +b2+c2+ab+bc+ca
® a*+b*+c*+a+b+c
@ a?+b*+c2+2a+2b+2c

B a2 +b% +c2+2ab + 2bc + 2ca



1234 o] Zhe =g
22. 43212 — 4320 x 4322 o gks et =,

e
=%




4x% — 24xy + 36y — 16

23.



24. (-9)2 o Fo| AFTEa, V625 2 AFZErFL T, atb
o] k& ool

aﬂia—&-b:



25. -1 2
<x<09 ), ot BH7] = 7 o] 7B 2 AL Fstolgt

H7
@ -x?
1 O x © Vx
® — P
. =
\x




26. \/(5-2V5)2+ \/(2V5 - 5)2 & 7reks] S a+ b V5 oIk, {5
a $tb 9 27

D -4 ® 0 3 3 @ 6 B 11



27. ohg B9 A, B, C, D, E oA 71 2 59} 714 2L o] B8
Fajolat,

H7]

=71
@ Vi5=AV3 © V2Zx5°x3=BV3
© 3V3+4V3=CvV3 @?’J/_(?:Dﬁ
® V021+ VT =EV3

e =
=%



28. 7+&9] Zo]7} xem , Al22] Z0]7} yem (x> y ) 9 HAH]

A G D

, A
Id N

7 H F

@ (=% + 2*)em? @ (= = 2)em?

® (=x% + 3xy — 2y?)em? @ (-x*+ 6xy — 2y*)cm?

® (=x2 + 9xy — 2y?)cm?



@ 3x2-2x-8=(x+A)(Bx+4)

© 4x* +Cx-3=(2x-1)(2x- D)

e

D EE



ol g5te] shitol

Ho
=
Z AXNZLE L THE Aot} o] uf, AAIZY




31. o 1dold AB & AEL

28 2 995 90, 0, 714 A
A B, C el A2 B0 9. 2 0) o WATe o
BHAE o] b U o, ARG R0 Yol

, Y0 9
EastbE

&
o

ON:: (3a2 +3b2 + 8ab) @ 8nab
® 2nmab

@ nab
® n

(2a2 +2b2% + 8ab)



32. 100 <a<200 ¥ of, V7a 7} A9 HE 2 sl L E 2S¢ 9
29l 02 Folelet
B =



33
. 30(22_1
=) () (%
- . )(1027-1>
oz ) =7
S Alitstoizt,




